
 

 

                

 

               

 

               

 

               

Przelicznik oraz tabela Btu/h – kW  
  

 

Przelicznik Btu/h – kW 

 
1kW = 3413 Btu/h 

 

1000 Btu/h = 0,293kW 
 

 

 
 

 

 

 
 

 

 
 

 

 

 
 

 

 
 

 

 
 

 

 

 
 

 

 
 

 

 
Btu/h to stosowana w Wielkiej Brytanii i USA jednostka mocy chłodniczej - odpowiednik kW w 

układzie SI. 

BTU/h kW 

5600 1,50 

7000 2,05 

8000 2,34 

9000 2,64 

12000 3,50 

14000 4,10 

18000 5,30 

19000 5,57 

20000 5,80 

22000 6,40 

24000 7,00 

25000 7,30 

28000 8,20 

29000 8,50 

30000 8,80 

36000 10,5 

38000 11,1 

42000 12,3 

44000 12,9 

48000 14,1 

54600 16,0 

60000 17,6 

62000 18,0 


